ADJUSTING SCREWS

BTRET sus

(EroN’

No.E-9960

A SUS316

W&

iTES iR A (#83F) B C D E HiEg
938963 AJS06030S M 6X1.0 25 30 6 16 15
938964 AJS06040S M 6X1.0 35 40 6 16 17
938965 AJS06050S M 6X1.0 45 50 6 16 21
938966 AJS08040S M 8X1.25 34 40 8 22 35
938967 AJS08050S M 8X1.25 44 50 8 22 40
938968 AJS08060S M 8X1.25 54 60 8 22 43
938969 AJS10050S M10X1.5 42 50 10 25 65
938970 AJS10060S M10X1.5 52 60 10 25 71
938971 AJS10070S M10X1.5 62 70 10 25 75
938972 AJS12060S M12X1.75 50 60 12 30 115
938973 AJS12080S M12X1.75 70 80 12 30 130

fi& F 51

AEERTHCADHE. HITEFTIA,

11

(WCwn) HFHE




